
B

B

11
10

7

16

1

9

5

14

8

4

3

2

6

15

17

13

12

EXPLODED ISOMETRIC VIEW

20

19

18

9

9

9

9

9

SECTION B-B
SCALE 1 : 1.5

ITEM 
NO. PART NO. DESCRIPTION QTY.

1 FB50991 SCREW, M6 X 35, 316 SS, SETSCREW 4
2 FB500 SCREW, M3 X 5MM LG, PAN HD, POZIDRIVE, SS316 6
3 FN136 NUT, RIVET, CSK, SERRATED, 2.0-3.5MM, ST.STEEL, M6 11
4 KI40037312 SHROUD & IMPELLER, BLOWER, HCU 3/* 1
5 KI17008 TAPE,ARMAFLEX,50MM X 3MM 1
6 KI17402 PANEL, LOUVRED 1
7 KI40036307 HOUSING, BLOWER, HCU 3/* 1
8 KI40036308 PLATE, INLET, BLOWER HOUSING, HCU 3/* 1
9 KI40036309 SEAL, FOAM, SHROUD, BLOWER, HCU 3/* 1
10 KI40037103 SHAFT ASSEMBLY, BLOWER, HCU 3/* 1
11 KI40037102 MOTOR SUB ASSEMBLY 1
12 FN132 NUT, CLINCH, CSK., SERRATED, 2-3.5mm, M4 4
13 FB357 SCREW, CAP, SKT, M5 X 12 LG, 316SS 4
14 FB65695 SETSCREW, HEX, M5 X 0.8 X 10 LG, SS316 12
15 FB263 SCREW, M/C, CSK, SLOTTED, M4 X 12 MM LONG, SS 316 4
16 KI40037302 SPACER, SHROUD, BLOWER, HCU 3/* 1
17 KI40037308 SPACER, BEARING HOUSING, HCU 3/* 1
18 FW083 WASHER, PLAIN, SS, M6 4
19 FW127 WASHER, SPRING, M6, TYPE A, SS 316 4
20 FW078 WASHER,PLAIN, M5, SS 316 12

SIZE

1:5
SCALE (UOS)

11
SHEET

R09
REV

PRODUCT / PROJECT No.

KI40037101
PART  NO.

DRAWING NO.

P21715S1

BLOWER SUB ASSY, 
HCU 3/*

TITLE

A B C D

CBA

1

2

3

5

4

1

2

3

OF

4

6

E F G H

F G H

5

6

KINERGETICS

REV ECN BY DATE AUTH.DESCRIPTION

DO NOT SCALE
DRAWING

NOTES: DENOTES CHANGES MADE AT THIS REVISION9

JFD OWNS THE COPYRIGHT OF THIS DOCUMENT AND ANY DESIGN RIGHT HEREIN. IT IS SUPPLIED IN 
CONFIDENCE AND MUST NOT BE USED FOR ANY PURPOSE OTHER THAN THAT FOR WHICH IT IS SUPPLIED 

AND MUST NOT BE REPRODUCED WITHOUT PERMISSION IN WRITING FROM THE OWNERS.

THIRD ANGLE 
PROJECTION

ED

R00

R07

JFD WESTHILL
ENTERPRISE DRIVE, 

WESTHILL, ABERDEEN, 
AB32 6TQ, UK

TEL: +44 (0)1224 740145
E: enquiries@jfdglobal.com

W: jfdglobal.comA2

R08

ISSUED FOR MANUFACTURE GR 30/06/06 RTW

AB

AN08/11/16

26/09/17RC

ZD20182

20948FB110 REPLACED WITH FB50991,
KI40037308 ADDED
FB113 & FB123 REMOVED

JR PB24/09/18ITEMS 4 & 14 UPDATED & 
ITEMS 18, 19 & 20 ADDED 22752R09


	Sheet1
	Drawing View2
	Drawing View6
	Section View B-B


